三（上）数学口算练习（8）
三（    ）班     姓名                                                     做对（  ）题

	64÷8=

80×4=

73-47=

21×4=

60÷3=

300×4＝

40×5＝

5000＋2000＝

8000－2000＝

55＋5＝

72－15＝

4×220＝

8×200＝

60－39＝

17＋21＝

300×3＝

230×2＝

88－65＝

7000＋3000＝

4700－700=
	13÷7 =

8× 4 =

66 ÷ 2=

14＋6 =

18 ÷ 9 =

45－5=

7×200 =

25 ÷ 3 =

4×50 =

80－7=

36÷ 6 =

700 ×6 =

40 ÷ 2 =

36－3 =

4 ×800=

17÷4=

99÷ 3=

600×6 =

3×700 =

50－2=
	96÷3=

5×200=

6000-600=

3×23=

89×0=

54＋0=

78－0=

310＋3=

6×70=

54＋31=

43－27=

88－12=

8000－4000=

3×230=

340×2=

6×900=

90－46=

98＋29=

40÷8=

200×5=
	40×5=

23－5=

60－9=

4000＋3000=

55＋47=

92－7=

26－24=

400÷2=

20＋2=

0×280=

600－0=

46－23=

3000＋800=

2000－600=

5600＋400=

220×4=

32×3=

40÷4=

80÷4=

2×340=
	 EQ \F(3,8) ＋ EQ 

 EQ 

 EQ \F(2,8) ＝
 EQ \F(2,7) － EQ \F(1,7) ＝
 EQ \F(1,3) ＋ EQ \F(1,3) ＝

 EQ \F(6,10) － EQ 

 EQ \F(3,10) ＝

1－ EQ 

 EQ \F(5,12) ＝

 EQ \F(3,5) ＋ EQ \F(1,5) ＝

 EQ \F(3,4) ＋ EQ \F(1,4) ＝
 EQ \F(3,6) － EQ \F(3,6) ＝
 EQ \F(2,9) ＋ EQ \F(3,9) ＝
1－ EQ 

 EQ \F(1,2) ＝

 EQ \F(4,8) － EQ 

 EQ \F(1,8) ＝

 EQ \F(2,7) ＋ EQ \F(3,7) ＝


